(MZREX eppp SEYU=7#H1 K S-Model Linear Guides

LGS series qae® (DZAM

w N L
4-M X 21 L1
w
<« t2 / ¢D ‘ ‘
0 ] i i
el {0 o)
uoF T j T i R—
by h N
H |-t
' 1
% Hol 10| T ‘ P | ‘
> G nXP | (@)
9 Lomax
Mx My Mz
A A
#123 : LGSV —X~FiER BART o mm
i i HAETEE N 7Y v F oSk L - v ~F % TN = A=y TV | BAEREE | FNHEEE— XY (X7 YS| L
© Co Mx My Mz & H&
H |Ho | To | W | L w () Li | F [Mx&| T h P G DxdXf |Lomax|/BffK| t2 | N | (&N) | (kN) |(kN-m)|(kN-m)|(kN-m)| (kg) (kg/m)
LGS15 24 | 46 | 95| 34 |56 26 | 26 |40 | 194 | Max5 | 15 | 14 | 60 20 | 7.5X4.5% 53| 4000 | ®3 5 4 | 9321349 | 007 0.05 0.05 0.22 1.4
LGS20 28 | 5 11 42 | 678 | 32 | 32 | 488 | 23 M5x7 | 20 | 18 | 60 20 | 9.5%6 X 85| 4000 | M6X1 | 5 15 | 15.00 | 21.08 | 0.22 0.18 0.18 0.30 26
LGS25 33 | 7 125 | 48 | 78 35 | 35 |57 |26 Mex8 | 23 | 22 | 60 20 |11 X7 X 9 | 4000 |M6X1| 5 15 | 20.55 | 27.31 | 0.35 0.31 0.30 0.40 36
LGS30 42 |9 16 60 | 99 40 | 40 |72 |33 |M8x1l| 28 | 26 | 80 20 |14 X9 Xx12 | 4000 |M6X1 | 7 14 | 30.74 | 41.31 | 059 0.49 0.48 0.85 5.2
F124  FEL-IRE BAGT o mm
i % 1 = )V =3 s L—J
100 500 1000 1500 2000 2500 3000 3500 4000 BAEX
Les1s 100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900 20202140 2260 2380 2500 2620 2740 2860 2080 3100 3220 3340 3460 3580 3700 3820 3940
4000
‘ 1é0 ‘ ZéO ‘ 460 ‘ 5é0 ‘ 64‘10 ‘ 760 ‘ Béo ‘ 1600 ‘ 11‘20 ‘ 12‘40 ‘ 13‘60 ‘ 14‘80 ‘ 16b0 ‘ 17‘20 ‘ 18‘40 ‘ 19‘60 ‘ 2680 ‘ 22‘00 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 2§00 ‘ 29‘20 ‘ 3640 ‘ 31‘60 ‘ 32‘80 ‘ 34‘00 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4060
L6520 100 220 340 460 580 700 820 940 1060 1180 1300 1420 1540 1660 1780 1900 20202140 2260 2380 2500 2620 2740 2860 2980 3100 3220 3340 3460 3580 3700 3820 3940
4000
‘ 1(‘30 ‘ 2é0 ‘ 460 ‘ 5é0 ‘ 6)10 ‘ 760 ‘ 8é0 ‘ 1600 ‘ 11‘20 ‘ 12‘40 ‘ 13‘60 ‘ 14‘80 ‘ 1600 ‘ 17‘20 ‘ 18‘40 ‘ 19‘60 ‘ 2680 ‘ 22‘00 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 28‘00 ‘ 29‘20 ‘ 3640 ‘ 31‘60 ‘ 32‘80 ‘ 34‘00 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4600
LGS25 190 ‘ 22‘0 ‘ 31‘10 ‘ 4(3‘0 ‘ SE‘EO ‘ 790 ‘ 8‘20 ‘ 91‘10 ‘ 1qe0 ‘ 11?0 ‘ 1390 ‘ 14‘20 ‘ 15‘40 ‘ 16‘60 ‘ 17‘80 ‘ 1990 ‘ 2929 21‘40 ‘ 22‘60 ‘ 23‘80 ‘ 25‘00 ‘ 26?0 ‘ 27‘40 ‘ ZSFO ‘ 29‘80 ‘ 31‘00 ‘ 32?0 ‘ 33‘40 ‘ 34‘60 ‘ 35?0 ‘ 3790 ‘ 38?0 ‘ 39‘40 |
4000
‘ 1250 ‘ ZéO ‘ 460 ‘ 5é0 ‘ 61‘10 ‘ 750 ‘ séo ‘ 1600 ‘ 11‘20 ‘ 12‘40 ‘ 13‘60 ‘ 14‘80 ‘ 16b0 ‘ 17‘20 ‘ 18‘40 ‘ 19‘60 ‘ 2680 ‘ 22‘00 ‘ 23‘20 ‘ 24‘40 ‘ 25‘60 ‘ 26‘80 ‘ 2§00 ‘ 29‘20 ‘ 3640 ‘ 31‘60 ‘ 32‘80 ‘ 34‘00 ‘ 35‘20 ‘ 36‘40 ‘ 37‘60 ‘ 38‘80 ‘ 4600
120 280 440 600 760 920 1080 1240 1400 1560 1720 1880 2040 2200 2360 2520 2680 2840 3000 3160 3320 3480 3640 3800 3960
LGS30 —tt++++——+—+—+—t+—+—+—+—t+—+—+—F+—F+—+—+—++ —tttt++——+——+——+—+——+—+——+—+—+—+——+—+—F+—+——+—F+—+— 4000
200 360 520 680 840 1000 1160 1320 1480 1640 1800 1960 2120 2280 2440 2600 2760 2920 3080 3240 3400 3560 3720 3880 4000
FEHS | LGS20 —CG —2 x1000
Y L RS ST T
T 5t 7 —Jb bt RFY T
SU—=
®iES | BESU—R
CG 9= )—R
VG HEJ)—R
HG 27—
FG BRIY—R
186 %I —RDOERP42S 187





